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QUESTION 1

You are using Recovery Manager (RMAN) with a recovery catalog to back up your production database. The backups
and the archived redo log files are copied to a tape drive on a daily basis. Because of media failure, you lost your
production database completely along with the recovery catalog database. You want to recover the target database and
make it functional. You consider performing the following steps to accomplish the task:

1.

Restore an autobackup of the server parameter file.

2.

Restore the control file

3.

Start the target database instance

4,

Mount the database

5.

Restore the data files

6.

Open the database with RESETLOGS option

7.

Recover the data files

8.

Set DBID for the target database

Which option illustrates the correct sequence that you must use?

A.8,1,3,2,4,5 7,6

B.1,8,3,4,2,5,7,6

C.1,3,4,2,8,5/6,7

D.1,3,2,4,6,5,7,8

Correct Answer: A

QUESTION 2
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To accomplish user-managed backup for the USERS tablespace, you issued the following command to put

the tablespace in backup mode:

SQL> ALTER TABLESPACE users BEGIN BACKUP;

While copying the file to the backup destination a power outage caused the instance to terminate

abnormally.

Which statement is true about the next database startup and the userstablespace?

A. The database will open, and the tablespace automatically comes out of the backup mode.

B. The database will be mounted, and recovery must be performed on the USERS tablespace.

C. The database will be mounted, and data files in the USERS tablespace must be taken out of the backup mode.

D. The database will not be mounted, and you must restore all the data files for the USERS tablespace from the backup,
and perform recovery.

Correct Answer: C

QUESTION 3
Examine the following set of RMAN commands:

RMAN> CONFIGURE CHANNELdelDEVICETYPEDISK FORMAT \\/u02/backup/%U*; RKAN>RUN {
ALLOCATECHANNELChIDEVICETYPEDISK; EXECUTESCRIPTfull_backup; }

Which statement is true when the RMAN run block is executed?

A. The execution of the script fails because multiple channels cannot coexist.

B. The script is executed and both the channels are used for the script execution.

C. The new channel, CH1, is ignored because a channel has been configured already.

D. The persistent configuration parameter DC1 is overridden because a new channel is allocated in the RMAN run
block.

Correct Answer: D

QUESTION 4

Which data dictionary view would you query to find the name of the default permanent tablespace of the database?
A. DICTIONARY

B. DBA_TABLESPACES

C. DBA_DIRECTORIES
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D. DBA_STORED_SETTINGS
E. DATABASE_PROPERTIES
F. DBA_TABLESPACE_GROUPS

Correct Answer: E

QUESTION 5

The Automatic Workload Repository (AWR) snapshot interval is set to 1 hour. A user of your database notifies you that
the system was slow between 10:00 PM and 10:10 PM, but the Automatic Database Diagnostic Management (ADDM)
analysis for the time period between

10:00

PM and 11:00 PM does not show this performance problem. What would you suggest to analyze this performance
problem for the user?

A.

SQL Tuning Advisor

B.

SQL Performance Analyzer
C.

Active Session History report
D.

AWR Compare Periods report

Correct Answer: C
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